5-3 mgjor fit problem w no NMF convention

Board 1 Q3
East Deals vy A954
None Vul ¢ 7432
& Q93
& K9754 N & AB86
v Jl08 W £ vy K72
¢ AK10 ¢ J8
475 S . KJ1062
4 J102
vy Q63
¢ Q965
& A84
West North East South
1 Pass
le Pass 1N Pass



NMF solves 5-3 mgor fit problem

Board 1b 4 Q32
East Deals v A105
None Vul ¢ 7432
& A93
& K9754 N & AB86
v J83 W £ vy K72
¢ AK10 ¢ J8
475 Sl . KQJ106
& J10
v Q964
¢ Q965
& 842
West North East South
1% Pass
1e Pass 1N Pass
241 Pass 242 Pass
34 Pass 44 All pass

1. New Minor Forcing bid
2. | have 3 spades



Board 2
North Deals
None Vul

4-4 Magjor Fit

& 942

v 102

¢ J10542

& AOS8
& QJ1063 N
vy K865 W £
¢ A
& 175 =

o K75

vy Al4d

¢ 9863

& Q63
West North East

Pass 1%

le Pass IN
2¢ Pass 2vl
3y Pass 49

1. | have 4 hearts

s A8

v Q973
+ KQ7
& K1042

South
Pass
Pass
Pass

All pass



No 5/4 mgjor = no NMF = Standard auction

Board 3 & AJ105
North Deals v 832
None Vul ¢ K97
& Q43
s K97 N & 432
v Q1065 W e v A94
¢+ Q86 s ¢ A532
& K85 & AO7
& Q86
vy KJ7
¢ J104
& J1062
West North East South
Pass 1e¢ Pass
lv Pass 1N Pass

Pass Pass



2N Rebid & Must have other major NMF holding

Board 4 4 987
West Deals v KJ8
None Vul ¢ 962
& 10932
&« KQ10 N & AJ654
v A942 W E v 1073
¢+ AQJ4 < ¢+ K103
& K4 & J8
& 32
v Q65
¢ 875
& AQ765
West North East South
1le Pass 1e Pass
2N Pass 3al Pass
3v2 Pass 3N Pass
443 All pass

1. New Minor Forcing also applies over 2N rebid
2. | have 4 hearts
3. | aso have 3 spades and you must have 5 to use NMF



